EXTRAPLUS EXTRAPLUS
36 500

MA1531 4m Euro 4m Euro
LT
AR0052 water Euro body (m) 1 MD0009-10 @ 1.0 M6 tip
AR0054 Euro body (m) 1 MD0009-12 @ 1.2 M6 tip 20
BWo0091 nut 1 MDO0063-00 M6 short tip holder 10
BWo092 reduction 1 MDO0064-00 M8 short tip holder 10
BWO0094 reduction 1 MD0131-00 M6 long 10
BXo0021 trigger - micro 1 MDO0132-00 M8 long 10
BX0157 cable4 m 1 ME0017 plastic diffuser 10
EA0128 o ring @ 4x1 NBR 10 ME0041 plastic diffuser 10
EA0210 oring @ 3x1.5 10 ME0074 plastic diffuser 10
EA0282 d.h. clamp @ 9.5 10 ME0076 M8 short tip holder 10
EA0340 screw M10x12.5 10 ME0079 plastic diffuser 10
EA0341 screw M10x12.5 10 MEOO81 Mé short tip holder 10
FA0026 liner nut 10 MEO0082 M6 long fip holder 10
FA3020 quick connector 10 ME0083 M8 long fip holder 10
FB0360 torch head Extraplus 1 ME0417 plastic diffuser 10
FB0362 suction fitting 1 ME0517 ceramic diffuser 10
FB0363 suction fitting 1 ME0579 ceramic diffuser 10
FB1278 insulator 10 MF0325 torch head 1
MCo0026 @ 12 conical nozzle 10 MGO0070 torch head 1
MCo027 @ 12 conical nozzle 10 MH0127 50 mm2 4m M10x1 1
MCo028 @ 19 nozzle 10 MHO0255 4m 1
MC0109 @ 17 tapered nozzle 10 MQO0004 @10.5x14 L=112 10
MCO0110 @ 20 spot weld. nozzle 10 MQo0129 insulator L=90 10
MC0268 @ 16 conical nozzle 10 MQo0188 protection cable 1
MC0290 @ 14 conical nozzle 10 MQO0190 fumes aspiration cable 1
MC0291 @ 20 cylindrical nozzle 10 MS0003 @ 4.0 Teflon 10
MC0292 @ 15 tapered nozzle 10 MS0004 @ 4.5 Teflon 10
MC0293 @ 20 spot weld. nozzle 10 MTO115 back box kit 1
MDO0005-08 @ 0.8 M8 tip 20 MTO121 complete handle 1
MDO0005-10 @ 1.0 M8 tip 20 MT0216 complete handle 1
MDO0005-12 @ 1.2 M8 tip 20 QA0020 4m - water (out) 1
MDO0005-14 @ 1.4 M8 tip 20 QB0073 4m - wire 1
MDO0005-16 @ 1.6m8 tip 20 QB0077 4m - water (in) 1
MDO0005-20 @ 2.0 M8 tip 20 QBo008&1 4m - gas 1
MD0009-08 @ 0.8 Mé tip 20 QB0084 0.6m - water (out) 1

XXXX-XX| STANDARD CONSUMABLES IN BLUE

[ ] COMPLETE TORCHES [ ] CONSUMABLES CONNECTORS SPARE PARTS

50 | & | ﬁ;/‘/oﬁmc]‘

your welding partner



< EXTRAPLUS
.e 36

CONSUMABLES

MIG
WELDING

5

FB0603 __/f
/
&
Steel liner “
GMo541...
AR0054 wee /7SS 1 m
Euro Teflon liner

340A CO2
320A Mix

=
EA0210 ¥ —msoo04 LINERS "l, 80 m¥%h E 50m/sec % mmo

ﬂ EXTRAPLUS
500
CONSUMABLES
FBo362
MG0070— |
FB1278 — o
MEo076 — [P
ME0579 — 47
MD0009.—— (;" :

FB0363 — e
EAD341 |
("

BWoo93 —
AR0O52 BWO0091 —
Euro J A 15 Ko
== | e
—— m
MQo129 = /J  4m / l
v 113 (o rH808-09-1.0 500A CO2
S peak [W12-16-2.0 4 450A Mix
>
EA0D210 —=7 MEO00S 4 4
MS0004 LINERS AR comeh Y Som/sec % mmo

WELDING

your welding partner

ﬁg//oﬁ)??@f ue [ 1|




